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QUESTION 1

What action will a Lookup Stage take when "Drop" is selected as the Lookup Failure Option? 

A. Stage reports an error 

B. Stage skips the input record 

C. Stage rejects the Input record 

D. Job gets aborted 

Correct Answer: B 

 

QUESTION 2

Which of the following CANNOT be defined in the DataStage configuration file? 

A. Degree of parallelism 

B. Scratch disk dedicated for sorting 

C. Compilation options for DataStage jobs 

D. A named pool including only part (some) of the nodes 

Correct Answer: C 

 

QUESTION 3

Which of the following statements about FastTrack is incorrect? 

A. The only way to combine data in a FastTrack mapping specification is to create a lookup definition 

B. When a job is generated from a FastTrack specification, it can contain connection information to access source and
target database systems 

C. When generating a job from a FastTrack specification, you can specify the desired stage type for the source and the
target (e.g. sequentialfile, ODBC connector, DB2 connector) 

D. Changes in mapping specifications are propagated to previously generated DataStage jobs as annotations 

Correct Answer: A 

 

QUESTION 4

A Job Sequence CANNOT contain __________. 

A. Transformer Stages 
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B. Sequencer Stages 

C. Triggers 

D. Job Activity Stages 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is not a supported matching option of the Lookup Stage? 

A. Equality match 

B. Caseless match 

C. Range on the Target Link 

D. Range on the Reference Link 

Correct Answer: C 

 

QUESTION 6

Which type of jobs can be compiled into Orchestrate Scripting Language (OSH)? 

A. Server jobs 

B. Parallel jobs 

C. Sequence Jobs 

D. Mainframe Jobs 

Correct Answer: B 

 

QUESTION 7

In which situation below can you use the Metadata Asset Manager with the MetaBrokers and Bridges (Import/Export
Manager) to import metadata into the Metadata Repository? 

A. To bring runtime information about DataStage jobs into the Metadata Repository 

B. To bring FastTrack mapping specifications into the Metadata Repository 

C. To bring Cognos BI reports and queries into the Metadata Repository 

D. To bring a blueprint from Blueprint Director into the Metadata Repository 

Correct Answer: C 
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QUESTION 8

A file contains a very large number of records with unique groups based on a key. Which Grouping Method would you
prefer to use in the Aggregate Stage for aggregating the data? 

A. Hash 

B. Sort 

C. Random 

D. Round Robin 

Correct Answer: B 

 

QUESTION 9

Which of the following is a valid Write Table action in the Connector Stages? 

A. Append 

B. Replace 

C. Truncate 

D. All of the above 

Correct Answer: D 

 

QUESTION 10

Which of the following stages is NOT a file data access stage? 

A. Sequential File Stage 

B. Transformer Stage 

C. Dataset Stage 

D. FileSet Stage 

Correct Answer: B 
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